INSTALLATION INSTRUCTIONS

Congratulations - your new Air Helper Springs are quality
products capable of improving the handling and comfort of your
vehicle. As with all products, proper installation is the key to
obtaining all of the benefits your kit is capable of delivering.
Please take a few minutesto read through the instructionsto
identifythecomponentsand learnwhereand howtheyare used.
Itisagood idea to start by comparing the parts in your kit with
the parts list below.

The heart of the air helper spring kit is, of course, the air
springs. Remember that the air helper springs must flex and
expand during operation, so be sure that there is enough
clearance to do so without rubbing against any other part of the
vehicle.

Be sure to take all applicable safety precautions during the
installation of the kit. The instructions listed in this brochure
and the illustrations all show the left, or driver’s side of the
vehicle. Toinstall the right side assembly simply follow the same
procedures.

PARTS LIST

2458 [ 2459 | 2461

WARNING:

Donotinflate thisassembly whenitisunrestricted. The
assembly must be restricted by the suspension or other
adequate structure. Do not inflate beyond 100 psi Improper
use or over inflation may cause property damage or severe
personal injury.

Your kit includes separate inflation valves and air lines for
each air helper spring. Thiswill allow you to level your vehicle
fromsidetosideaswellasfromfronttoback. If youwould rather
have asingle valve inflation system, your dealer can supply the
required "T" fitting.

ImpPoRrTANT!

For your safety and to prevent possible damage to your
vehicle, do not exceed the maximum load recommended by the
vehicle manufacturer (GVWR). Although your Air Helper
Springs are rated at a maximum inflation pressure of 100 psi,
this pressure may allow you to carry too great a load on some
vehicles. It is best to have your vehicle weighed once it is
completely loaded and compare that weight to the maximum
allowed. Check your vehicle owner’s manual or data plate on
driver's side door for maximum loads listed for your vehicle.

When inflating your Air Helper Springs, add air pressure
in small quantities, checking pressure frequently during
inflation. The air spring requires much less air volume than
a tire and, therefore, inflates much quicker.

267C1.5 AIR SPRING 6397 2
LEFT UPPER BRACKET 5440 1
LEFT UPPER BRACE 5442 1
RIGHT UPPER BRACKET 5441 1
RIGHT UPPER BRACE 5443 1
LOWER BRACKETS 5564 2
AXLE STRAP 1163 2
HEAT SHIELD 1
HOSE CLAMP 2
AIR LINE TUBING 1
3/8"-16 BAIL CLAMP 2
3/8"-16 FLANGE LOCK NUT 18
3/8"-16 X 1" HEX BOLT 8
3/8"-16 X 3/4" HEX BOLT 2

3/8"-16 x 2.5" CARRIAGE BOLTS
3/8"-16 x 4" CARRIAGE BOLTS
5/8"-18 NYLON JAM NUT
5/16"-24 X 1" HEX HEAD BOLT
5/16"-24 FLANGE LOCK NUT
5/16" FLAT WASHER
PUSH TO CONNECT
INFLATION VALVE
PUSH TO CONNECT
AIR FITTING
THERMAL SLEEVE
NYLON TIE
CAUTIONTAG

N ANOMNONDAN

NN

21-8378

10-07

NAD-35830-1



2458 [ 2459 | 2461 @/_A'R FITTING FIGURE "A"

S,
KIT ASSEMBLY \ S8 18 NOTE: Both illustrations are
NYLON JAM NUT of the left, or drivers side, of
. N the vehicle. Reverse any

orientations when assembling
and installing the right, or
passenger, side of the vehicle.

" UPPER BRACKET

3/8” -16 x 2.5”j
CARRIAGE BOLT

3/8” -16 x 4”
/—CARRIAGE BOLT

5/16”-24 x 1”

/_ HEX BOLT

5/16” FLAT
WASHER
AIR SPRING x @ \ 5/16” -24
N FLANGED
LOCK NU
3/8”-16 x 4”
ECARRIAGE BOLT
e
S

\S
ggr-16 | Off s
FLANGED
LOCK NUT

. 5
P
3/8”-16 x 1" S

HEX BOLT

3/8" 16
FLANGED
LOCK NUT
' AXLE
STRAP
3/8" 16 > \//
FLANGED !
LOCK NUT @ . -
S
£ <

KIT TO FRAME ASSEMBLY R



ﬁz ' T ”é

NN ) U

DRIVER'S SIDE

N N
N y _\

INNAY FRONT
" FIGURE "B"

FIGURE "C"

INFLATION
VALVES

FIGURE "D"

fAIF( LINE

%\ [ FLAT WASHER

PUSH-TO-CONNECT \@
INFLATION VALVE /

BODY OF
VEHICLE

@
/\
HEX NUT

VALVE CAP

FIGURE "D"

STEP 1 — PREPARE THE VEHCICLE
Withthevehicleonasolid, level surface chock the front wheels.

Remove the jounce bumper located under the framerail, see Figure

“C”. Thejounce bumpersand nuts will not be reused with this kit.

STEP 2 — PRE-ASEMBLE THE KIT

Thiskitcontainstwo differentupper brackets, one for the leftside
andone for the rightside. Preassembly will beginwith leftside of the
vehicle. Allpicturesdepictthe installationonthe leftside unless noted
otherwise. Install one 3/8"-16 x 2-1/2” carriage bolt into the upper
bracket, see Figure “A”. Next, selectone of theair springsand install
the upper left bracket using the 5/8"-18 Nylon jam nut. Install the air
fittingasshowninFigure“A”. Tightentheair fitting securely toengage
the orange thread sealant. Selectalower bracketand theninserttwo
3/8"-16x4" carriage boltsthroughthe square holes towards the center
ofthe bracket. Next, securethe lower brackettotheair springassembly
usingthe 3/8"-16 x 3/4”” hex head boltasshown in Figure “A”. Double
check the orientation of both brackets before attempting installation.

STEP 3 — INSTALL ASSEMBLY ON THE VEHICLE

Insertthe 2-1/2” carriage bolt from the upper bracketassembly
throughthe hole provided by the removal of the jounce bumper. Make
surethat the brake line bracket isinserted over the carriage bolt. Place
the lower bracketontop of the axle and positionitsothatitis flushagainst
the spring stack, and around the U-bolts that secure the axle. Once
properly positioned, fasten the upper bracketto the frame using a
3/8"-16flange lock nut. Attachthe upper leftbrace tothe upper bracket
using four 3/8"-16 x 1" boltsand 3/8"-16 flange lock nutsas shownin
Figure “A”. Next, insertthe 5/16"-24 X 1" hex boltand flat washer in
the upper leftbrace throughthe frame. Secure usinga5/16"-24 flanged
lock nut. Insert the 3/8"-16 bail clamp from the outside of the spring
stack, into the holes in the legs of the lower bracket. Secure the bail
clamptothe lower bracketusing two 3/8"-16 flange lock nuts. Attach
the lower bracket to the axle using the 3/8"-16 x 4" carriage bolts
installed earlier,aaxlestrap, and two 3/8"-16 flange lock nuts, as shown
in Figure “A” and “B”.

STEP 5 — INSTALLATION OF PASSENGER’S SIDE

Follow steps 1-3 for assembly and installation of the passenger’s
side assembly. Note, reverse any orientations for the passenger’s
side installation.

STEP 6 — INSTALL THE AIR LINE AND INFLATTION
VALVE

Uncoil the air line and cut it into two equal lengths. DO NOT
FOLDORKINKTHE TUBING. Trytomakethe cutassquareas
possible. Insertoneendof thetubing intothe elbowfitting installed inthe
top of the air helper spring. Push the tubing into the fitting as far as
possible; please refer to Figure “A”.



Selectalocationonthe vehicle for theair inflation valves. The location can be onthe bumper or onthe body
ofthevehicle,aslongasitisinaprotected location so the valve will not be damaged, but maintain accessibility for
theairchuck, pleasesee Figure““D”. Drilla5/16" holeand install the air inflation valve using two 5/16" flat washers
pervalveassupports, please see Figure “E”. Runtheair line fromtheair helper spring tothe inflation valve, routing
ittoavoid directheat from exhaust pipeand away fromsharp edges. Theair line should notbe bentor curvedsharply
asitmay buckle withage. Securetheair line in place withthe nylonties provided. Pushthe end of theair line into
theinflationvalveasillustrated in Figure “E”.

STEP 7 — CHECK THE AIR SYSTEM

Oncetheinflationvalvesare installed inflate the air helper springs to 50 psiand check the fittings for air leaks
withanapplied solution of soapandwater. Ifaleak is detected ata tubing connection then check to make sure that
thetube iscutassquare as possible andthatitis pushed completely into the fitting. Theair line caneasily be removed
fromthefittingsby pushing the collar towards the body of the fittingand then pulling outtheair line. Ifaleak isdetected
wherethefitting screws intotheair spring, removetheair line then screw the fitting into the spring until the leak stops.
Re-install the air line and re-inflate the air spring and check for leaks as noted above.

This now completes the installation. Before proceeding, check once again to be sure you have proper
clearancearoundtheairsprings. Withaload onyour vehicle and the air helper springs inflated, you mush have at
least?~” clearance aroundtheair springs. Asageneral rule, the Air Helper Springs will supportapproximately 30
Ibs. of load for each psi of inflation pressure (per pair). Forexample, 50 psi of inflation pressure will supportaload
ofapproximately 1500 Ibs. per pair of air helper springs. FOR BEST RIDE use only enough air pressure inthe
air helper springsto level the vehicle when viewed from the side (frontto rear). Thisamountwill vary depending on
the load, location of load, condition of existing suspensionand personal preference.

NOTE:

Toomuchairpressure inthe air helper springswill resultinafirmer ride, whiletoo little air pressure will
allowtheair helper spring to bottom out over rough road conditions. Too little air pressure will also not provide
the improvementin handling thatis possible. TOPREVENT POSSIBLE DAMAGE MAINTAINA
MINUM OF 5PSI IN THE AIR HELPER SPRINGS AT ALL TIEMS. Once the helper springs are
installed, itisrecommended that the vehicle notbe lifted by the frame, as over extension may occur, resultingin
damagetotheairhelper springs. However, should it become it become necessary to raise the vehicle by the
frame, deflate both air helper springscompletely.

NorE:
MIN PRESSURE 5 PSI

MAX PRESSURE (LOADED) 100 PSI

AIR HELPER SPRINGS

www.riderite.com



